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[ . Vocabulary

1.1 Words

aboard
absorb
accent
acceptable
acceptance
bake
baker
ballance
bargain
barrier
cable

cafe

cage
calculate
camel
dam

darken

Unit 1

darling
dawn
deaf
cagle
earthquake
ease
Easter
eastern
facilicy
fade
faise
farewell
gallon
gap
garage
gaseous

handle



harbor
harden
hardness
ideal
illustrate
illustration
image

jam

lack
largely
lately
later
magnetic

magnificent
1.2 Phrases,

be absorbed in

keep(lose) one’ s balance

turn a deaf ear to
fill a gap
keep pace with

e 2.

major
male
naked
namely
neat
necessity
observe
observer
obvious
occasional  .:
pace
package
packet
pad
qualify
range
rate

ratio
rational

sake

out of/beyond range
for the sake of

be jealous of

within range

at any rate



come across come on

come through came to

come around come up to
come back come up with
come by come upon
come over come out with
come out

I . Practice

In questions 1-30 each sentence has a blank space. Below each sen-
tence are four choices. You are to choose the one that best completes the

sentence.

7

t. Another baby! Another baby! Another baby! You can’t speak

guickly =nough to the birth rate. ,
A. keep the balance B. fill a gap with
C. keep pace with D. come by
2. John was _____ writing the paper. and never looked at Mary-
A. at ease for B. absorbed in
C. jealous of D. turning a deaf ear to
3. __ it seems hard to blame Henry and his San Franciso, espe-

cially as he loves the place.

A. Within range B. Out of range
C. At any rate - D. At last
4. 1 a photograph of him the other day when I was looking

for some old things.

A. came across B. came out



C. came around : D. came along

5. Bill couldn’t ____ an answer when I asked him why he was
late.

A. come up with B. come over

C. come on D. come up to

6. After Columbus had shown the way to America, a great many

Spaniards
A. came back B. came over
C. came by D. came upon

7. Phoenix looked out of the window long before

A.lawn B. gallon C. jaw D. dawn

8. Suddenly, after about hal[ian hoar, the train ___ the cloud
"and into the sunlight.

A. came to B. came on

C. came through D. came back

9. Unfortunately, altetrnatives to bombing Iraq were hard to come

A. by B. up to C. out with D. out

10. Michael came * bottora in biis history and top in math.
A. out with B. out
C. around - D. up to

1i. Unhappy couples’ should divorce rather than remain together
the children.

A. within range of B. coming to
" c. jealous of - D. for the sake of
12. The ____ ‘of language is harmful in science, but it is, of

course, an equally serious obstacle in every kind of dealing between na-
tions.

..4.



A. barrier B. baker C. cage D. dam

13. The biood gives a sheet to the cobblestone at first, ___ , be-
comes pink-

A. deserves B. jars C. observes D. fades

14. He grew up in America, so he speaks English with a strong
American ___ . '

A. accent B. account C. garage D. cafe

15. ____ is a long-necked animal, with either one or two round
lumps on its back, used in desert countries for riding and carrying goods.

A. Baker B. Camel C. Harbor D. Male

16. According to this law, two types occurina ____ of 15 1 in
some cases and 33 ] in others.

A. rate B. ritio C. packet D. package

17. One.o( the drawbacks of existing electric autos is limited .

A. pad B. sake C. cable D. range

18. Only one of us, - .Jnck » hit the traffic jam. ‘

A. obviously B. occasionally

C. largely D. namely

19. Smith hasn' t been sending me any American magazines ____

A. late B. later C. latest D. lately ’

20. An egg may be fried while bread is certainly .

A. baked B. bargained C. absorbed D. eased

21. No two plants, persons or snow(lakes are ever .
A. identical B. ideal
C. gaseous D. magnificent

22. We started work on two large plans, the third London Ajrport
and the Channel cable system, only to both.
A. cable B. observe C. cancel D. cage



23. It looked like it was going to rain, so my father put the car in
the .

A. garage B. jar C. gallon D." pace
24. He was sorry not to be able to give me a better. gift.
A. observer. - B. tap C. gap D. farewell

¥ 25. The no less important guestion of the language in which scien~

tific work should be presented remains, however, ____ unresolved.

A. namely B. largely

C. neatly . D. magnetically .

26. They ____ my point so clearly that I am sorry I needn’t read
them to you now.

A. occasioned A B. imagined .

C. illustrated D. ignored

27. Tom is very dil;ferent from the ____ Tonce had of him.

A. image - B. kettle C. jam D. jaw
28. He landed with his companions, catrying with them a “of

wine for a present.

A. single B. jéw C. jar D. eagle

29. Since the moon __ an atmosphere, weathering does not oc-
cur there. ' o

A. absorbs B. hardens

C. illustrations D. lacks

30. It &5 ____ that the movie is popular, since the theater is
- crowded. )

A. occasional : B. magnificent

C. facility D. obvious

. Word Formation
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3.1 Prefixes

a- ab- ad- anti- aqua- (aqui-) auto-

Now use the above-mentioned p.reﬁxes and the words or suffixes
from the list below in the followin’é sentences. .

septic use join biography normal fire light just  graph
slavery aircraft -tic V ’ ‘

1. Freezing weather in June is

2. The room was very warm for the stove haq been ___ all day.

3. The ___ofa nine-year-old child “.lould probably be much
shorter than the ___ of a ninety-year-old man. '

4. The __ guhs' were kept ready- ‘

5. The store manager saw that our bill (2 H) was too high, $o he
will it

6. T have collected the ____ of all the students in my class.

7. Our university is in the suburbs of Chengdu, so a lot of fields

it.

8. Because the basketballer the coach’s rules, he was taken

off the team.

9. Tell me the name of the famous American poet who was intense-
ly interested in .

10. Althiough this method avoids the necessity of using tech-
niques, we recommend that sterilized glassware be used.

11. Fish is an animal.
3.2 Suffixes

-able -age -al -ia.l'
Now , Complete these sentences, using the suffixes above mentioned

l7.



and the words given below.

rely store remove try mile

artifice centre move

1. Nylon and plastic are ____  producis.

2. The best place for ___  of money is a bank.

3. The ____ proved that the motor would fail at high speeds.

4. Many classrooms in our institute have _  desks.

5. Ted is a very ____ worker and always has his assignments fin-
" ished on time. ‘

6. What was the total ____ of the trip.

7. The ____ of the street signs confused many \?isi)to'rs‘ to the city.

8. The biggest stores are in the ____ part of the city, but the

shopping centres at the edge of town do a lot of business also.



1. Vdcabulary

1.1 Words

accident
accidental
accompany
accomplish
accordingly
bay

beach
beam

beard

beef
campaign
cancer
carbon
cargo
carpet

debt
decade

Unit 2

decay

. decimal

echo
edge
edition
editor
efficient
fashion
fate
fanlty
feature
gasoline
generally
generate
generator
generous

harmless

9.



hay

heading
heap
imagination
imagine
imitate
immense
imply

jewel

joint

juice

justice

kneel
laughter
jaunch
lavatory
layer
management
inanner
manufacturer

mat

1.2 Phrases

add up
back up
be at bay

bear down on

010.

negative
neglect
nephew
nervous
nest
occasionally
occupy
occur
occurrence
painful
paint

palm

pan
parallel“
rail

raw

ray

readily
sack
saddle

tame

break down
break in
break into

break off



break out . by accident

break through ) in a fashion
break up on edge
bring sb. to justice 4

I . Practice

1. T met vith my old friend John when 1 was in Beijing last

month.

A . off the rails B. by.accident

C. on edge D. in a fashion

2. 1 was telling them aboﬁt my travels when he __  with a story
of his own. oL we o

. broke in B. broke into

. broke out - D. broke off:

A
C
3. By early June, President Nixon was. ... .

A. added us up B. backed us up

C. broken us up . D. at bay

4. After the boys threw the snowbalis they saw a large lady
them {rom across the street.

A. breaking in -B. being on edge of

C. being at bay on D. bearing down on

5. We are sorry to arrive late, but the car ,

A. broke off B. brought it to justice
C. broke through D. broke down -
6. The police found that the house had been and a quantity

of jewellery stolen.
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